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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 
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f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the meaning, objectives and types of 

classification. 

oxhZdj.k ds vFkZ] mís’; vkSj izdkj ij ppkZ dhft,A 

2. Explain mean deviation and standard deviation as 

measures of variation. 

fopyu eki ds :i esa vkSlr fopyu vkSj ekud fopyu 

dks le>kb,A 

3. 10 salesmen employed by a company were given 

month‟s training. At the end of the specified training, 

they took a test and were ranked on the basis of the 

their performance. They were then posted to their 

respective areas. At the end of six months they were 

rated in respect of their sales performance. Find out the 

rank correlation. 

Salesmen 
Rank obtained 

in training 

Rank based on 

Sales 

Performance 
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10 

4 

6 
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7 
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5 

5 
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,d dEiuh }kjk fu;ksftr 10 lsYlesu dks eghus rd 

izf’k{k.k fn;k x;k FkkA fufnZ”V izf’k{k.k ds vUr esa] mUgksaus 

,d ijh{kk yh vkSj muds izn’kZu ds vk/kkj ij 

iafDrc)@Øec) fd;k x;kA os rc vius lacaf/kr {ks=ksa esa 

fu;qDr fd, x,A Ng eghus ds vUr esa os foØ; esa vius 

izn’kZu ds laca/k esa ewY;kafdr fd;s x;sA Øec)@iafDrc) 

lglaca/k [kkstsa % 

lsYlesu 
izf’k{k.k esa izkIr 

Øe 

foØ; izn’kZu ij 

vk/kkfjr Øe 
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4. What are Index numbers ? Discuss the problems in the 

construction of index numbers. 

lwpdkad D;k gSa \ lwpdkadksa ds fuekZ.k esa leL;kvksa ij ppkZ 

dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the role of tabulation. 

lkj.khdj.k dh Hkwfedk ij ppkZ dhft,A 

2. What are the limitations of the measures of central 

tendency ? 

dsUnzh; izo`fŸk ds ekiksa dh lhek,¡ D;k gSa \ 

3. The percentage of dividend declared by a company 

over the last 12 years is 5, 8, 6, 10, 12, 20, 18, 15, 30, 

25, 20, 16. Compute the average dividend. 

fiNys 12 o”kks± esa dEiuh }kjk ?kksf”kr ykHkka’k dk izfr’kr 5] 

8] 6] 10] 12] 20] 18] 15] 30] 25] 20] 16 gSA vkSlr 

ykHkka’k dh x.kuk dhft,A 

4. Calculate and analyze the correlation coefficient 

between the number of study hours and the number of 

sleeping hours of different students : 

Number of Study 

Hours 

Number of Sleeping 

Hours 

2 

4 

6 

8 

10 

10 

9 

8 

7 

6 
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v/;;u ?k.Vs dh la[;k vkSj fofHkUu Nk=ksa ds lksus ds ?k.Vs 

dh la[;k ds chp lglaca/k xq.kkad dh x.kuk vkSj fo’ys”k.k 

dhft,A 

v/;;u ds ?k.Vksa dh la[;k lksus ds ?k.Vksa dh la[;k 

2 

4 

6 

8 

10 

10 

9 

8 

7 

6 

5. What is Kelly‟s method of constructing index  

numbers ? 

lwpdkad ds fuekZ.k dh dsyh dh fof/k D;k gS \ 

6. What is secular trend ? 

nh?kZdkyhu vfu;fer ¼xSjpØh;½ izo`fŸk D;k gS \ 

7. Discuss irregular variations. 

vfu;fer fopj.kksa ij ppkZ dhft,A 

8. How is growth rate calculated in time series ? 

le; Ük`a[kyk esa o`f) nj dh x.kuk dSls dh tkrh gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

1. The mean of a variable is appropriate for interval and 

ratio scale data. (True/False) 

,d pj dk vkSlr vUrjky rFkk iSekus ds leadksa ds fy, 

mi;qDr gSA   ¼lR;@vlR;½ 

2. The median is less affected by outliers and skewed 

data.     (True/False) 

ekf/;dk oká ,oa fo”kerkiw.kZ leadksa ls vis{kkd`r de 

izHkkfor gksrh gSA   ¼lR;@vlR;½ 

3. Standard deviation is calculated as the square root of 

average of squared deviations taken from actual mean.  

     (True/False) 

ekud fopyu dh okLrfod ek/; ls fy, x, fopyuksa ds 

oxks± ds vkSlr ds oxZewy ds :i esa x.kuk dh tkrh gSA  

    ¼lR;@vlR;½ 

4. The coefficient of variation (CV) is the ratio of the 

standard deviation to the mean deviation. (True/False) 

fopj.k xq.kkad ¼lhoh½ ekud fopyu dk vkSlr fopyu ds 

fy, vuqikr gSA   ¼lR;@vlR;½ 

5. Skewness is the extent to which a distribution differs 

from a normal distribution. (True/False) 

folerk og lhek gS tgk¡ rd ,d forj.k lkekU; forj.k 

ls fHkUu gksrk gSA   ¼lR;@vlR;½ 
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6. The coefficient of correlation varies between + 1  

to  – 1.   (True/False) 

lglaca/k xq.kkad $ 1 ls & 1 ds chp izlfjr gksrk gSA  

    ¼lR;@vlR;½ 

7. A composite price index based on the prices of a group 

of items is known as the aggregate price index.  

     (True/False) 

oLrqvksa ds ,d lewg dh dherksa ds vk/kkj ij lexz ewY; 

lwpdkad dqy ewY; lwpdkad ds :i esa tkuk tkrk gSA  

    ¼lR;@vlR;½ 

8. The regression coefficient of X on Y is represented by 

the symbol bxy that measures the change in Y for the 

unit change in X. (True/False) 

Y ¼okbZ½ ij X ¼,Dl½ ds izfrxeu xq.kkad dks fpUg byx 

¼cbZDl½ }kjk n’kkZ;k tkrk gS tks X ¼,Dl½ esa bdkbZ 

ifjorZu ds fy, Y ¼okbZ½ esa ifjorZu dks ekirk gSA  

    ¼lR;@vlR;½ 

9. Fisher‟s Ideal volume index is the geometric mean of 

the Laspeyres and Paasche volume indices. (True/False) 

fQ’kj dk vkn’kZ ifjek.k@ek=k lwpdkad] ysLisjl vkSj ik’ks 

ifjek.k@ek=k lwpdkad dk T;kferh; vkSlr gSA  

    ¼lR;@vlR;½ 

10. Seasonal trends are long term effects of socio-

economic and political factors. (True/False) 

ekSleh izo`fŸk;k¡ lektkfFkZd ,oa jktuhfrd dkj.kksa dk 

nh?kZdkyhu izHkko gksrh gSaA   ¼lR;@vlR;½ 
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